E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 75X |IELL K4 =] SCER 20 -5
60 SM30| 1 |/\KE & 7.76 -1.0
60 SM30 | 2 |#kH EE f2 ] 7.96 -1.0
60 SM30| 3 |&EWEA f2 ] 8.10 -1.0
60 SM30 | 4 |f8k fn& fa 8.60 -1.0
60 M35 | 1 |HER Rk fa 8.30 -1.0
60 M40 | 1 |F E—ED fa e 8.26 +0.0
60 M40 | 2 |BAR BR f&m 8.54 +0.0
60 M40 | 3 |HT B4 f2 ] 9.51 +0.0
60 M40 | 4 |/RHE E&E fa e 9.63 +0.0
60 M45 | 1 |=# A% fa 7.81 +1.2
60 M45 [ 2 |4t EDh fa e 7.99 +1.2
60 M45 | 3 |BELL &E%A fa 8.13 +1.2
60 M45 | 4 |ILG & &l 8.28 +1.2
60 M45 | 5 |#MF XK fa 8.51 +1.2
60 M45 | 6 |5iE FHA &l 9.05 +1.2
60 M45 AR EBEX HR +1.2
60 M50 | 1 |HEH f@1E X5 8.51 -0.4
60 M50 | 2 |BWFE 12 8.63 -0.4
60 M50 | 3 |iZEL =R =B 9.28 -0.4
60 M55 | 1 |HE FA f=2h 8.38 -0.4
60 M55 | 2 |#&ELL [B— = 5 8.41 -0.4
60 M55 | 3 |FEE XXk =B 8.49 -0.4
60 M55 | 4 |EHd FIE f=2h 10.40 -0.4
60 M55 | 5 |&= IE— f2hE 10.51 -0.4
60 M55 2F BRIE & -0.4
60 M60 | 1 |#F/EH BH g 8.36 +0.2
60 M60 | 2 |B{8i% =B 8.61 +0.6
60 M60 | 3 |HFT B BERE 9.12 +0.2
60 M60 | 4 |HLE XX f=2 9.32 +0.6
60 M60 | 5 |=8 M= f2 9.64 +0.2
60 M60 | 6 |{E#k RE & 9.77 +0.6
60 M60 | 7 MR % f2 10.17 +0.6
60 M60 fAif Rz % +0.6
60 M60 INEF EE & +0.2
60 M60 AE —B & +0.2
60 M65 | 1 |HhiR{EZ f2 8.95 +0.3
60 M65 | 2 |/nik #8 f2 9.26 +0.3
60 M65 | 3 |REE M= f=2 9.63 +0.3
60 M65 | 4 |)IlA 83X & 9.86 +0.3
60 M65 | 5 |#AFE EE f2 9.89 +0.3
60 M65 | 6 |FELL EX f2hE 10.23 +0.3
60 M65 K EHE & +0.3




E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 75X |IELL K4 =] SCER 20 -5
60 M70 | 1 | K= EEsA fa 9.27 +1.2
60 M70 | 2 |IAK & & 9.70 +1.2
60 M70 | 3 |#3H FERB RI% 9.73 +1.2
60 M70 | 4 |FHFF E#t A 10.35 +1.2
60 M70 | 5 |ILN FAE fa 11.24 +1.2
60 M70 ik B f2 ] +1.2
60 M75 | 1 |FEI& BBH] fa 10.15 +1.0
60 M75 | 2 |kHF BE fa 10.50 +1.0
60 M75 | 3 |;BH X f2 ] 11.26 +1.0
60 MO0 | 1 |FEkE E 2] 13.83 +0.1
60 M100 | 1 |[K## E=EB f2 ] 20.77 +0.1
60 SwW25 | 1 |;5% B= &= 8.69 +0.7
60 SW25 | 2 |XE mEF f2 ] 9.70 +0.7
60 W35 | 1 [#E AE fa e 8.73 +0.7
60 W35 Bi5 & fa +0.7
60 w45 | 1 | BHEF B 9.03 +0.7
60 w4s | 2 |4t &=+ B 9.39 +0.7
60 w45 | 3 (S BEF B 9.82 +0.7
60 W55 | 1 [/NEF{EEIF fal 10.31 -1.2
60 W55 | 2 |#kE EiE B 48.19 -1.2
60 Weo | 1 (A vITF EIR 10.75 -1.2
60 W75 | 1 [#Il EKF 12 12.25 -1.2




E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 95X |IEsL K% g 0K 0 &5
100 | SM25( 1 |ZBElE RE fa 11.67 +0.5
100 | SM25( 2 |[FH# Ft f&2m 12.45 +0.5
100 | SM25| 3 |BIRF — 5 & 13.29 +0.5
100 | SM30| 1 |/\K & 2k 11.90 -2.4
100 | SM30| 2 |® &t 2] 12.21 -2.4
100 | SM30| 3 [ EA f2 ] 12.32 -2.4
100 | SM30| 4 |#HA E=E fa e 12.36 -2.4
100 [ SM30| 5 [f&8k Fn& f&m 12.87 -2.4
100 | SM30| 6 [FIER FRZ f2 ] 13.35 -2.4
100 | SM30 fER K #hth 2] -2.4
100 M35 | 1 |iIH =B RI% 12.44 +0.1
100 M35 | 2 |AE EB— fa e 12.52 +0.1
100 M35 | 3 |E FKih fa 12.67 +0.1
100 M35 | 4 |EK &EiE fa e 12.71 +0.1
100 M35 | 5 |HEAKR £/ = [ 13.28 +0.1
100 M35 | 6 |4E18 F B 13.79 +0.1
100 M35 | 7 |Ei& BE % 14.34 +0.1
100 M40 | 1 |IAK Bz % 12.49 -0.4
100 M40 | 2 |FxFE—ER f2hE 12.58 -0.4
100 M40 | 3 |BA B f=2h 12.92 -0.4
100 M40 | 4 | E FF— KB 13.12 -0.4
100 M40 | 5 |[RHE Ef & 14.96 -0.4
100 M45 | 1 |ZEB A% f2hE 12.14 -0.7
100 M45 [ 2 |4t Eh & 12.18 -0.6
100 M45 | 3 |KE BE f=2h 12.49 -0.6
100 M45 | 4 |ILEA &F f2hm 12.84 -0.6
100 M45 | 5 |IU&n f2 f2hE 12.97 -0.6
100 M45 | 6 |3zib & f2 13.36 -0.7
100 M45 | 7 |5iE FH &l 14.70 -0.6
100 M45 Fa &t & -0.6
100 M45 Ei5 nth &l -0.7
100 M45 BXEX HIR -0.7
100 M45 Fi5 B &l -0.7
100 M50 | 1 |#4F Zaf % 12.92 -2.0
100 M50 | 2 |HEHH f@1E ) 13.26 -1.2
100 M50 | 3 |BHMEHR f2 13.51 -1.2
100 M50 | 4 |HFE f2 13.59 -1.2
100 M50 | 5 |/ BRE =B 14.08 -1.2
100 M50 | 6 |HHIR f2 14.19 -2.0
100 M50 | 7 |"NEFF A 7)— | f&El 14.34 -2.0
100 M50 | 8 |#R& K BFZ— f2hE 14.89 -1.2
100 M50 L E— & -2.0
100 M50 &L & -2.0




E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 75X |IELL K4 ) Ekd 20 -5
100 M55 | 1 [#EL f5— = 12.90 -1.4
100 M55 | 2 |HLE FA 2 [ 12.95 -1.4
100 M55 | 3 |fEE RX &= 13.48 -1.4
100 M60 | 1 |FEHE HEE BiE 12.90 -0.4
100 M60 | 2 |B {8 &= 13.71 -0.4
100 M60 | 3 |=8 = = [ 15.03 -0.4
100 M60 | 4 |{EBE RE 2 [ 15.28 -0.4
100 M60 | 5 |IFE B &= 16.68 -0.4
100 M60 ®Ek BT = ] -0.4
100 M60 INEF B = ] -0.4
100 M65 | 1 |Hhis{EZ & fit] 13.70 +0.9
100 M65 | 2 |hnik #4 = [ 14.33 +0.9
100 M65 | 3 |REM B & ] 14.76 +0.9
100 M65 | 4 |#\[@ EE & fit] 15.40 +0.9
100 M65 | 5 |FEIL fEX 2 fif] 15.96 +0.9
100 M65 | 6 |#8 BT B 19.40 +0.9
100 M65 KA EHE 2] +0.9
100 M65 no Ex 12 +0.9
100 M70 | 1 | K= EEdh 12 14.85 -1.8
100 M70 | 2 |¥3H BB RI% 15.60 -1.8
100 M70 | 3 |FHFF ZE# A 16.97 -1.8
100 M70 [ 4 |IUA WE 2] 18.19 -1.8
100 M70 NI R4 = -1.8
100 M75 | 1 |FEE IEE] =2 16.13 -1.8
100 M75 | 2 |sk3t EE 12 16.55 -1.8
100 M75 | 3 |;BH X 2] 17.97 -1.8
100 M75 | 4 |&E& FEAN B 19.18 -1.8
100 M8O [ 1 |BEIBE= 1B 17.71 -3.3
100 M8O [ 2 |KIL=E 1B 18.12 -3.3
100 M80 | 3 [HERE & 1B 20.55 -3.3
100 MO | 1 |k B R 23.97 -3.3
100 | M100 | 1 | K# E=ER 12 34.35 -3.3
100 | sw25| 1 [BE B =B 13.24 +20| KESH
100 | SW25 KB MEF 12 +2.0
100 | Sw30| 1 |l FFEF 1B 16.62 +2.0
100 w35 | 1 [#E AE =[] 13.77 +2.0
100 w40 | 1 |FE B fal 14.06 +2.0
100 w45 | 1 | BHEF 1B 13.95 +2.0
100 w4s | 2 |4t =1+ 1B 14.59 +2.0
100 W45 Sl EEF = [ +2.0
100 W55 | 1 [/NEF1EEIF = [ 16.03 +1.0
100 W55 feHE HiF & [ +1.0
100 weo | 1 [&E EKF & fit] 16.34 +1.0
100 wes | 1 [l EEF RER 18.00 +1.0
100 wes | 2 |Ei5 BitF f2 21.43 +1.0
100 W75 | 1[Il EHKF f2 19.52 +1.0




E33EEM YR —AELHRRFERS

#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 95X |IEsL K% g 0K 0 &5
200 | SM30| 1 |E3 8| f2 ] 23.99 -1.0
200 | SM30| 2 [I\NKE & 24.59 -1.0
200 | SM30| 2 |(E &t f2 ] 24.59 -1.0
200 | SM30| 4 |EWUEA f2 ] 25.09 -1.0
200 | SM30 fER K #hth 2] -1.0
200 | SM30 Il A fa e -1.0
200 M35 | 1 |iIH =B % 24.90 -1.0
200 M35 | 2 |EWE BE RI% 31.16 -1.0
200 M40 | 1 IR [EZ RI% 25.56 -0.5
200 M45 [ 1 |4t EDh 2] 24.61 -0.5
200 M45 | 2 |KE ERE f&m 25.46 -05
200 M45 | 3 |=EB A% fa e 25.92 -0.5
200 M45 | 4 |3zb & 12 27.71 -0.5
200 M45 Bi5 mth f2 ] -0.5
200 M45 Fi5 B fa -05
200 M50 | 1 |/ME BEE =B 29.01 -1.6
200 M50 | 2 |ERAAK B f2hE 30.17 -1.6
200 M50 | 3 |HEH f@1E X5 36.36 -1.6
200 M50 L@ & -1.6
200 M55 | 1 |HE FA f2hE 26.73 -1.6
200 M55 | 2 |ER #8= & 28.81 -1.6
200 M6O | 1 /N &k f2hE 37.17 +0.6
200 M65 K EE & +0.6
200 M70 | 1 |#AR FEiE f2hE 31.80 -2.3
200 M70 | 2 |¥3H BB RI% 32.35 -2.3
200 M75 | 1 |FEE IEE] f2hE 35.08 -2.3
200 M75 | 2 |sk3t EE f=2 35.74 -2.3
200 M75 hft £ RIG -2.3
200 M8O [ 1 |BEIBE= & 36.74 -2.3
200 M8O | 2 |EBRE —& f=2 41.30 -2.3
200 M8O | 3 |#EE B f=2 46.44 -2.3
200 | SwW25 AE B =B -2.8
200 W40 | 1 |FE B f=2 29.53 -2.8
200 w45 | 1 | BHEF & 30.04 -2.8
200 w45 | 2 |4t &F & 30.91 -2.8
200 W55 | 1 |ARIREF & 41.99 -2.8
200 wes | 1 [l EEF RE 39.06 -2.8
200 W65 | 2 |[@&)Il Fh0F & 42.77 -2.8




E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 95X |IEsL K% g 0K 0 &5
400 M35 | 1 | KI5 RF f2 ] 55.67
400 M35 | 2 |BIE BHE & 65.11
400 M35 AR BX &=
400 M40 | 1 IR [EZ RI% 56.93
400 M40 HE 48 A
400 M45 [ 1 |3Zih & 2 fif] 65.88
400 M45 Big mit f2 ]
400 M50 | 1 |/NEFF 7 7)— | f&ER 65.12
400 M50 | 2 |/ME BBEE &= 73.42
400 M50 | 3 [|luiT #H— 2] 105.90
400 M55 | 1 |B# FE fa e 62.24 REFH
400 M55 | 2 |5t IERE f2 ] 78.08
400 M55 EN L fa
400 M55 = H Bl &=
400 M55 AR 2 fa
400 M60 | 1 |IRE BiE =B 74.52
400 M70 | 1 |#AR AEi f2hE 71.98 RE#H
400 M70 N EE &
400 M75 | 1 |RE EB f2hm 81.16
400 M75 | 2 |&Rxk LZH & 91.36
400 M75 | 3 |&& FEA & 105.32
400 M75 bt 5 RIG
400 M8O [ 1 |BEIBE= & 99.29
400 M8O | 2 [#RE & f2hm 102.67
400 M8O | 3 |EBRE —& f2hm 107.73
400 M80 Rk EE RIG
400 W55 AR RF &
400 W65 i EEF RE




E33EEM YR —AELHRRFERS

#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 75X |IELL K4 =] SCER 20 -5
800 M35 | 1 | KI5 RF 2 [ 2.16.83
800 M35 | 2 |FBERBEX &= 2.26.89
800 M40 | 1 |J\E BLER RI% 2.27.93
800 M40 HE 48 A
800 M45 FE 8t fa e
800 M50 | 1 |E¥ F0sE fa e 2.24.16
800 M55 | 1 |SHE g &= 2.22.09 =H
800 M55 | 2 |EBHM FE fa e 2.36.37
800 M55 | 3 |ER 8= fa 2.53.97
800 M55 | 4 |E IE— 2] 2.57.39
800 M60 | 1 |FHP EZ fa e 2.40.57
800 M60 | 2 |HEiE BEELE =I5 2.42.03
800 M60 | 3 |ZFH EZ f2 ] 3.23.57
800 M65 | 1 |EER; 1A f2 ] 2.24.82 =
800 M65 | 2 | K& ERXR fa 4.08.09
800 M65 Ki5 BUE &
800 M70 | 1 |EH E& f2hE 3.13.13
800 M70 | 2 | K&K B2 f2fE | EEEREL
800 M70 | 3 |ER FIER f2fE | EEEREL
800 M75 | 1 | RAR K f2hE 3.36.69
800 M75 faH HF=88 &
800 | Sw25| 1 |ASI fi=E f2hE 2.43.28
800 W75 | 1 |ERBE BF f2 4.14.24




E33EEM YR —AELHRRFERS
#B Fp2745A58 (#)

rSwo BT B2 OHEMELERIS
e | 75X |IELL K4 =] SCER 20 -5
1500 | M35 | 1 |[BI& BE & 5.07.36
1500 | M40 | 1 |/\H 8&B RI% 4.48.29
1500 | M45 | 1 |R3iL = f2 ] 5.16.63
1500 | M45 e #I14 fa
1500 | M45 #E ShE fa
1500 | M50 | 1 [E# fnsE fa e 4.47.62
1500 | M50 | 2 |TS5q1tF Oyvy| EE 5.04.30
1500 | M55 | 1 |&HHE &g &= 453.99 RE#H
1500 | M55 | 2 |@&# 2% f2 ] 5.07.13
1500 | M55 | 3 |& IlE— 2] 6.16.27
1500 | M55 | 4 [485 &t A 6.41.97
1500 | M55 EN L fa
1500 | M60 | 1 |hE B f2 ] 5.07.42
1500 | M60 | 2 |HHiRE BELE =I5 5.14.50
1500 | M60 KEF BB fa
1500 | M65 | 1 | KB &8s 2] 5.55.35
1500 | M65 | 2 |S%t = 2] 6.19.40
1500 | M65 THBE i3
1500 | M70 | 1 |BH E& f2hE 6.10.35
1500 | M70 | 2 |Z[® FIER & 6.13.69
1500 | M75 | 1 | KRAR K f2hE 6.59.87
1500 | M75 faH HF=88 &
1500 | SW25 AL F1%E &
1500 | W65 458 MEF &
1500 | W75 | 1 |RE IBF f2 8.36.85
3000 | M60 [ 1 |FEF R fald | 10.41.84
3000 | M60 | 2 |[#k #— 2 | 11.49.09
3000 | M60 | 3 |MAE #E W& | 12.36.87
3000 | M60 KEF BB &
3000 | M65 [ 1 |El#{Ek f2f | 10.59.59
3000 | M65 | 2 |S% = t2f | 13.06.83
3000 | M65 | 3 |[FEH #B= HE 15.22.45
3000 | M65 Xi5 8 &l
3000 [ M70 | 1 |EH =& 2 | 13.27.37
3000 [ M70 | 2 [SZ 1ESR f2f | 14.32.36
3000 [ M75 | 1 [KRA®RK 2 | 145077
3000 | M75 faH F=88 &
3000 | wes | 1 |15 RiEF 2@ | 16.19.71
3000 | W75 | 1 |®RB ®¥F t2f | 17.49.55




E33EEM YR —AELHRRFERS

B TH27F5A58 (#1)
k2w BT B2 0HFELFRES
B | 95X |IBLL K4 =} 8% 0 5%
5000 | M35 1 |BIE B f&kE | 19.16.70
5000 M40 1 |80 7 A t2[ | 17.55.53
5000 | M40 | 2 |/\H &R EI& | 17.58.77
5000 M45 1 |Bi =& t2[ | 1851.93
5000 | M45 MHE ShE 2k
5000 | M50 | 1 |E3f fosE 2R | 17.26.98
5000 | M50 | 2 |{E&K #2[ | 20.26.86
5000 | M50 | 3 [ith H[&E 2 | 22.52.28
5000 | M55 1 |#&F 841 2 | 2048.12
5000 | M55 [y N 2k
5000 | SW25| 1 |AI #0= 2 | 21.26.25
5000 | W40 1 [BHR FE8 f2[ | 24.30.58
5000 | W55 | 1 [ARIEF el | 24.25.38
7B 95 | Bz FTiE yi] %
L
%% = ;E)ED" D
i0omr |SM25 1 |f@sSM25 M & 4891
IA EX
fﬁ‘é fau
= 2k FE
SM30 | 1 |{EREISM30A )| St 45.48
AR #&
1&&*;@@
2 |(#=mSM30B glm %a 47.78
STH R
=¥ %\E
_ KE BEA
=15 B
TF = NE AR
AT FIE
LEE
_ R BEF
B FmF
ey
= I N+

FEH @i




